BETWEEN THE

KENTUCKY EDUCATIONAL DEVELOPMENT COOPERATION (KEDC)

AND CARTER COUNTYSCHOOLS

The Kentucky Educational Development Corporation, 904 Rose Road, Ashland, Kentucky, 41102-7104, hereinafter KEDC, and CARTER COUNTY SCHOOLS, CARTER County Board of Education, 228 S. Carol Malone, Grayson, Kentucky, 41143, hereby agree to enter into this contract for the assignment of Dee Anna Albright, an employee of CARTER COUNTY SCHOOLS, to administer certain educational programs of KEDC.

CARTER COUNTY SCHOOLS agrees to the following:

- CARTER COUNTY SCHOOLS will contract with Dee Anna Albright and assign her for 220 days, to administer certain educational programs and function as a staff member of KEDC. The cost will be the actual daily rate plus related employment costs of \$24,912.95 paid by the CARTER COUNTY SCHOOLS.
- CARTER COUNTY SCHOOLS will be responsible for the personnel and payroll management of the contracted employee assigned to KEDC.
- CARTER COUNTY SCHOOLS agrees to provide liability insurance for the contracted employee assigned to KEDC.

KEDC agrees to:

 Reimburse CARTER COUNTY SCHOOLS the total personnel costs involving the assignment of the employee of \$92,606.95 in 12 monthly payments of \$7,717.25.

Therefore the parties agree to the personnel cost (salary, costs, and fringe benefits) as follows:

SALARY Cost for 220 Days (\$307.70 x 220 = \$67,694.00)):	\$67,694.00	
TOTAL SALARY		\$67,694.00	
Employer Medicare Contribution (1.45%): Health Insurance KSBA Unemployment Insurance: Worker's Compensation (.37%): Tearher's Retirement (16.105%) Total Annual Cost for Personnel:		\$ 981.56 \$12,718.80 \$ 60.00 \$ 250.47 \$10,902.12 \$92,606.95	
TOTAL COST DIVIDED BY 12 MONTHLY PAYMENTS		\$ 7,717.25	
The term of this contract shall be from July 1, 2021 through June 30, 2022.			
Superintendent	Date		
Nancy Hutchinson, KEDC Executive Director	Date		
KEDC Board Chairman	Date		

BETWEEN THE

KENTUCKY EDUCATIONAL DEVELOPMENT COOPERATION (KEDC)

AND

JOHNSON COUNTYSCHOOLS

The Kentucky Educational Development Corporation, 904 Rose Road, Ashland, Kentucky, 41102-7104, hereinafter KEDC, and JOHNSON COUNTY SCHOOLS, Johnson County Board of Education, 253 N. Mayo Trail, Paintsville, Kentucky, 41240, hereby agree to enter into this contract for the assignment of Rachel Holbrook, an employee of JOHNSON COUNTY SCHOOLS, to administer certain educational programs of KEDC.

JOHNSON COUNTY SCHOOLS agrees to the following:

JOHNSON COUNTY SCHOOLS will contract with Rachel Holbrook and assign her for 220 days, to administer certain educational programs and function as a staff member of KEDC. The cost will be the actual daily rate plus related employment costs of \$22,143.82 paid by the JOHNSON COUNTY SCHOOLS.

JOHNSON COUNTY SCHOOLS will be responsible for the personnel and payroll management of the contracted employee assigned to KEDC.

JOHNSON COUNTY SCHOOLS agrees to provide liability insurance for the contracted employee assigned to KEDC.

KEDC agrees to:

Reimburse JOHNSON COUNTY SCHOOLS the total personnel costs involving the assignment of the employee of \$ 93,289.62 in 12 monthly payments of \$ 7,774.14

Therefore the parties agree to the personnel cost (salary, costs, and fringe benefits) as follows:

SALARY Cost for 220 Days (\$323.39 x 220 = \$71,1	45.80):	\$71,145.80
TOTAL SALARY	\$71,145.80	
Employer Medicare Contribution (1.45%): Kentucky Teachers Retirement (16.105%): Health Insurance (760.80/month) KSBA Unemployment Insurance (1% or \$60 Workmen's Compensation (.653%): Total Annual Cost for Personnel:) max):	\$ 1,031.61 \$11,458.03 \$ 9,129.60 \$ 60.00 \$ 464.58 \$93,289.62
TOTAL COST DIVIDED BY 12 MONTHLY	PAYMENTS	\$ 7,774.14
The term of this contract shall be from July Superintendent	1, 2021 through Jur 28/2 Date	ne 30, 2022.
Nancy Hutchinson, KEDC Executive Director	or Date	
KEDC Board Chairman	Date	

BETWEEN THE

KENTUCKY EDUCATIONAL DEVELOPMENT COOPERATION (KEDC)

AND

MORGAN COUNTYSCHOOLS

The Kentucky Educational Development Corporation, 904 Rose Road, Ashland, Kentucky, 41102-7104, hereinafter KEDC, and MORGAN COUNTY SCHOOLS, MORGAN County Board of Education. 155 University Drive, West Liberty, Kentucky, 41472, hereby agree to enter into this contract for the assignment of Kimberly Sparkman, an employee of MORGAN COUNTY SCHOOLS, to administer certain educational programs of KEDC.

MORGAN COUNTY SCHOOLS agrees to the following:

- MORGAN COUNTY SCHOOLS will contract with Kimberly Sparkman and assign her for 220 days, to administer certain educational programs and function as a staff member of KEDC. The cost will be the actual daily rate plus related employment costs of \$ 106,574.41 paid by the MORGAN COUNTY SCHOOLS.
- MORGAN COUNTY SCHOOLS will be responsible for the personnel and payroll management of the contracted employee assigned to KEDC.
- MORGAN COUNTY SCHOOLS agrees to provide liability insurance for the contracted employee assigned to KEDC.

KEDC agrees to:

Reimburse MORGAN COUNTY SCHOOLS the total personnel costs involving the assignment of the employee of \$106,574.41 in 12 monthly payments of \$8881.20

Therefore the parties agree to the personnel cost (salary, costs, and fringe benefits) as follows:

SALARY Cost for 220 Days (\$377.14 x 220 = \$82,970.80):	\$8	82,970.80 ·	
TOTAL SALARY		\$8	32,970.80	
Employer Medicare Contribution (1.45%): TRS Health Insurance Federal Admin Fee Federal Life Ins KSBA Unemployment Insurance: Workmen's Compensation: Total Annual Cost for Personnel:		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1203.08 13,362.45 8158.08* 96.00 12.00 60.00 712.00 106,574.41	
TOTAL COST DIVIDED BY 12 MONTHLY PAYM	MENTS	\$	8881.20	
*Insurance cost changes that may occur due to rate adjustments will reimbursed by KEDC.				
The term of this contract shall be from July 1, 2021 through June 30, 2022.				
Superintendent	Date			
Nancy Hutchinson, KEDC Executive Director	Date			
KEDC Board Chairman	Date			

BETWEEN THE

KENTUCKY EDUCATIONAL DEVELOPMENT COOPERATION (KEDC)

AND

RACELAND-WORTHINGTON INDEPENDENT SCHOOLS

The Kentucky Educational Development Corporation, 904 Rose Road, Ashland, Kentucky, 41102-7104, hereinafter KEDC, and RACELAND-WORTHINGTON INDEPENDENT SCHOOLS, RWIS Board of Education, 600 Ram Blvd., Raceland, KY 41169, hereby agree to enter into this contract for the assignment of Abby Laber, an employee of R-W INDEPENDENT SCHOOLS, to administer certain educational programs of KEDC.

RACELAND-WORTHINGTON INDEPENDENT SCHOOLS agrees to the following:

- RWIS will contract with Abby Laber and assign her for 240 days, to administer certain educational
 programs and function as a staff member of KEDC. The cost will be the actual daily rate plus
 related employment costs of \$30,660.44 paid by RACELAND-WORTHINGTON INDEPENDENT
 SCHOOLS.
- RWIS will be responsible for the personnel and payroll management of the contracted employee assigned to KEDC.
- RWIS agrees to provide liability insurance for the contracted employee assigned to KEDC.

KEDC agrees to:

 Reimburse RACELAND-WORTHINGTON INDEPENDENT SCHOOLS the total personnel costs involving the assignment of the employee of \$121,282.04 in 12 monthly payments of \$10,106.84.

Therefore the parties agree to the personnel cost (salary, costs, and fringe benefits) as follows:

SALARY Cost for 240 Days (\$377.59 x 240 = \$90,621.60):		\$90,621.60		
TOTAL SALARY Federal Health Insurance Match (\$1165.58+\$1+\$8x12): Employer Federal Retirement Contribution (16.105%): Employer Medicare Contribution (1.45%): KSBA Unemployment Insurance (\$60 per quarter): Workmen's Compensation (\$0.46 per \$100):		\$90,621.60 \$14,094.96 \$14,594.61 \$1,314.01 \$240.00 \$416.86		
Total Annual Cost for Personnel:		\$121,282.04		
TOTAL COST DIVIDED BY 12 MONTHLY PAYMENTS		\$10,106.84		
The term of this contract shall be from July 1, 2021 through June 30, 2022.				
Superintendent	Date			
Nancy Hutchinson, KEDC Executive Director	Date			
KEDC Board Chairman	Date			